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QUESTION 1

A VPLS has a service MTU of 1600. To create an IES spoke termination to the VPLS, what ip-mtu value must be used
for the IES? 

A. 1586 

B. 1596 

C. 1600 

D. 1614 

Correct Answer: A 

 

QUESTION 2

What are the three databases maintained by a Link State Protocol? 

A. Neighbor, adjacency, route table 

B. Neighbor, topology, forwarding 

C. Topology, routing, forwarding 

D. There are only two databases: adjacency and topology 

Correct Answer: B 

 

QUESTION 3

Which of the following devices inspects the MPLS header in the received packet, and exchanges it for a new MPLS
header? 

A. iLER 

B. LER 

C. LSR 

D. PE 

E. eLER 

Correct Answer: C 

 

QUESTION 4

Which of the following commands can be used to display the number of SPF computations that have been performed on
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a router? 

A. show router ospf area  

B. show router ospf neighbor 

C. show router ospf interface 

D. show router ospf status 

Correct Answer: A 

 

QUESTION 5

Click on the exhibit. 

The path of a fast reroute protected LSP is R1-R2-R3. Which of the following about the protected LSP path is TRUE? 

A. All routers along the path, R1, R2, and R3 can be PLRs. 

B. If the R1-R2 link fails, router R4 becomes an MP. 

C. If the R2-R3 link fails, router R3 becomes a PLR. 

D. Router R1 is the LSP head-end and can be a PLR. 

Correct Answer: D 
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